@ C%)Q"W fhees: "
_\ -’Lo’l«\\d ; N

Physical Chemistry_Chpt_One_Properties of Gases >

: ol arass dad

Name of a student Signature

University of Mustansiriyah 1St Semester-2021

Department of Chemistry | A 1% Exam-paper A

FS LA S P SR
Q1: Circle the right answer for all of the following: (50 points)
K) (IVE ST1 qusp/‘&\' Wv) \d\u \C( 5\

1:ifagashasan icle then the difference eenthe volume of this gas is: W
Answer: b) Vreat& Vpertect g/ </ €) Vreal = Vperfect d) Viieal £V
2: A gas occupies 300000 mL at 130 °C and Mymssh(e. What would be its volume at STP?
Answer: b) 203.22dm?" O {d ;04 L s

cylinder at 15 x 10° Pa anc
_‘)c)ss 33mol d)95.33 kg

4: Calculate the number pf moles for CHa in @ 10000 mL cylinder at 10°

Answer: Omol c)4.0mmol d)4.5mmol
u 3) > O‘A'} R0 9

5: Accordmg to Graham’s law the heaviest gas is? _ :
Answer:  a)H.0 ‘m’ ~ CNH3 9§ d)jco [T /

6: A 20 L tank contains a certain amount of gas at 105 Pa. The gas is transfe:red to another tank 40 dm3. What

should be its pressure’ z
/
Answer: “b)50dm?  c¢)50.atm_d) 050 mm@
=D NI ,‘P".J\,.‘,r/\&‘.r:.:?gi" a0 o

7: According to the Avogadro’s law the amount of a substance is directly proportional with?
Answer: a)p b)T )R _ d)Vv

8: The difference between real and ideal gas is one of the following?
Answer:  a)lawp&highT ‘b) highp &law T c) highp & highT

9: It can know the density of a gas by applying one of the following? {J\,\; g S v/
3 : harles’s law d) Gay-Lussac’slaw < /j

Answer a) Raﬂ'l b) Ideal c) Real & ideal

N

v\ TSN ™M

4 fi s

°C and a yfessure of 641 Torr. What is the dens:ty of the gas? (25 points)

5B\ J\s \ P P z mbo 5° 94 (}3\@\
Q3: An Ar gas is placed i ina contamer at30°C at a pressure of 730 torr. What is the volume of the container in
mi? - P (25 points)

09/11/2021 Best wishes Dr Abduljabbar I. R. Rushdi




1 | v
Qe n=99mMol  m=ipeeomd v=99d™ T-7Zbe

P, 6w\tﬂV' 7—Q
T phesyn ¥ 73= %“\

P~ Clmtr\\xwl[-yy)/;éyhy/r(i?
s |

2 5i%b )ma\ %
M = M//\ /6 ( Q
Prm-tRT= A—Q'j‘ =

A_ m )Qo 3573 /}1/\_‘ g /-/':;‘\
, LR X\o %/L
a&iLq,,%\/% %/ x (3/°\/K
;. % 0
3/ -3oc° e g poy ¥ Y F ¢n= \mo)

T - 992+973 = 30344/

P = Cratm X¥’ioj;/)/7go/p/r:ay Mw

Pv=nRT _X/_
o‘g(L ®3 5

= \y/\ oo 23‘///1)«0 1,3




